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QUESTION 1

Within a Nutanix cluster an administrator is getting frequent failure alerts of the Cassandra and Stargate services for one
of the nodes. What action will be taken by the cluster?

A. Put host in Maintenance Mode

B. Redirect I/O path to another CVM

C. Remove the host from cluster

D. Reboot Guest VMs to another hosts

Correct Answer: A

When the Cassandra and Stargate services fail frequently on a single node, the cluster will automatically put the host in
Maintenance Mode to ensure the reliability and performance of the cluster. This will remove the node from the cluster\\'s

IO path and prevent any data loss or corruption. Reference: https://portal.nutanix.com/page/documents/details?targetid
=Platform-Administrator-Guide-v5_7:pag-maintenance-mode-c.html

QUESTION 2
A 10 GbE link has failed on Node A within the following cluster environment:

Four-node AHV-based cluster All node have only two 10 GbE ports connected to the network Active-backup is
configured What impact will user VMs experience from this issue?

A. Performance will Decrease

B. Will failover to another node

C. Will have no impact

D. Will shutdown

Correct Answer: C

In Active-backup mode, one network interface is active while the other is in standby mode. If the active interface fails,
the standby interface takes over, providing seamless failover without any disruption to user VMs. In this case, since the

cluster has two 10 GbE ports on each node, and only one link has failed, the user VMs will continue to operate normally
using the second link.

QUESTION 3

How is Prism Central deployed?
A. As a SaaS offering

B. As a Karbon container

C. As a native cluster service
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D. As a virtual machine

Correct Answer: D

QUESTION 4

What protocol does Pulse use to transmit cluster information to Nutanix?
A. SSH

B. SCP

C. SFTP

D. HTTPS

Correct Answer: D

QUESTION 5

Which Windows technology does AHV support to prevent authentication theft?
A. Endpoint Manager

B. Azure AD Multi-Factor

C. Windwos Defender Credential Guard

D. Active Directory federation Services

Correct Answer: D
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